

nama: Sedi ug hoso
latihan NO: 19/3401/023

Assignment

Find the eigenvalues and the corresponding

$$A = \begin{pmatrix} -3 & 0 & 6 \\ 4 & 5 & 3 \\ 1 & 2 & 1 \end{pmatrix}$$

$$B = \begin{pmatrix} 2 & 7 & 0 \\ 1 & 3 & 0 \\ 5 & 0 & 8 \end{pmatrix}$$

Solution

To find the eigenvalues: $|A - \lambda I| = 0$

$$\left| \begin{pmatrix} -3 & 0 & 6 \\ 4 & 5 & 3 \\ 1 & 2 & 1 \end{pmatrix} - \begin{pmatrix} \lambda & 0 & 0 \\ 0 & \lambda & 0 \\ 0 & 0 & \lambda \end{pmatrix} \right| = 0$$

$$\left| \begin{pmatrix} -3-\lambda & 0 & 6 \\ 4 & 5-\lambda & 3 \\ 1 & 2 & 1-\lambda \end{pmatrix} \right| = 0$$

$$-3-\lambda((5-\lambda)(1-\lambda) - 6) + 6(8 - (5-\lambda))$$

$$-3-\lambda(\lambda^2 - 6\lambda - 1) + 6(3-\lambda)$$

$$3 + 19\lambda + 3\lambda^2 - \lambda^3 + (18 - 6\lambda) = 0$$

$$-\lambda^3 + 3\lambda^2 + 25\lambda + 21 = 0$$

$$\lambda^3 - 3\lambda^2 - 25\lambda - 21 = 0$$

$$\lambda = -3 \text{ or } -1 \text{ or } 7$$

For eigenvectors $(A - \lambda I)x = 0$

$$\begin{pmatrix} -3 & 0 & 6 \\ 4 & 5 & 3 \\ 1 & 2 & 1 \end{pmatrix} - \begin{pmatrix} \lambda & 0 & 0 \\ 0 & \lambda & 0 \\ 0 & 0 & \lambda \end{pmatrix} \begin{bmatrix} x_1 \\ x_2 \\ x_3 \end{bmatrix} = \begin{bmatrix} 0 \\ 0 \\ 0 \end{bmatrix}$$

$$\begin{pmatrix} -3-\lambda & 0 & 6 \\ 4 & 5-\lambda & 3 \\ 1 & 2 & 1-\lambda \end{pmatrix} \begin{bmatrix} x_1 \\ x_2 \\ x_3 \end{bmatrix} = \begin{bmatrix} 0 \\ 0 \\ 0 \end{bmatrix}$$

When $\lambda = -3$

$$\begin{pmatrix} -3-(-3) & 0 & 6 \\ 4 & 5-(-3) & 3 \\ 1 & 2 & 1-(-3) \end{pmatrix}$$

$$\begin{pmatrix} 0 & 0 & 6 \\ 4 & 8 & 3 \\ 1 & 2 & 4 \end{pmatrix} \begin{pmatrix} x_1 \\ x_2 \\ x_3 \end{pmatrix} = \begin{pmatrix} 0 \\ 0 \\ 0 \end{pmatrix}$$

$$6x_3 = 0 \quad \text{--- (1)}$$

$$4x_1 + 8x_2 + 3x_3 = 0 \quad \text{--- (2)}$$

$$x_1 + 2x_2 + 4x_3 = 0 \quad \text{--- (3)}$$

From (1)

$$6x_3 = 0$$

$$x_3 = 0$$

Equ (ii) becomes

$$4x_1 + 8x_2 + 0 = 0$$

$$x_1 = -2x_2$$

$$x_1 : x_2 = -2 : 1$$

$$x = \begin{pmatrix} -2 \\ 1 \\ 0 \end{pmatrix}$$

When $\lambda = 1$

$$\begin{pmatrix} -2 & 0 & 6 \\ 4 & 4 & 3 \\ 1 & 2 & 2 \end{pmatrix} \begin{pmatrix} x_1 \\ x_2 \\ x_3 \end{pmatrix} = \begin{pmatrix} 0 \\ 0 \\ 0 \end{pmatrix}$$

$$-2x_1 + 6x_3 = 0 \quad \text{--- (1)}$$

$$4x_1 + 4x_2 + 6x_3 = 0 \quad \text{--- (2)}$$

$$x_1 + 2x_2 + 2x_3 = 0 \quad \text{--- (3)}$$

From (1)

$$-2x_1 + 6x_3 = 0$$

$$-2x_1 = -6x_3 \quad \left[\frac{-6}{2} \right] = 3$$

$$x_1 : x_3 = 3 : 1$$

Equ (ii) becomes

$$x_1 + 2x_2 + 2x_3 = 0$$

$$3 + 2x_2 + 2(1) = 0$$

$$8 + 2x_2 + 2 = 0$$

$$5 + x_2 = 0$$

$$x_2 = -5$$

$$x_2 = \begin{pmatrix} 3 \\ -5 \\ 1 \end{pmatrix}$$

When $\lambda = 7$

$$\begin{pmatrix} 10 & 0 & 6 \\ 4 & -2 & 3 \\ 1 & 2 & -6 \end{pmatrix} \begin{pmatrix} x_1 \\ x_2 \\ x_3 \end{pmatrix} = \begin{pmatrix} 0 \\ 0 \\ 0 \end{pmatrix}$$

$$10x_1 + 6x_3 = 0$$

$$4x_1 - 2x_2 + 3x_3 = 0$$

$$x_1 + 2x_2 - 6x_3 = 0$$

From (1)

$$\frac{10x_1}{10} = \frac{-6x_3}{10}$$

$$5x_1 = -3x_3$$

$$x_1 : x_3 = -3 : 5$$

$$= -0.6 : 1$$

Equ (ii) becomes

$$-0.6 + 2x_2 - 6(1) = 0$$

$$2x_2 = 6.6$$

$$x_2 = 3.3$$

$$x_2 = \begin{pmatrix} -0.6 \\ 3.3 \\ 1 \end{pmatrix}$$

$$A = \begin{pmatrix} 2 & 7 & 0 \\ 1 & 3 & 1 \\ 5 & 0 & 8 \end{pmatrix}$$

Solution

To find the eigenvalues $\Rightarrow |A - \lambda I| = 0$

$$\begin{vmatrix} 2-\lambda & 7 & 0 \\ 1 & 3-\lambda & 1 \\ 5 & 0 & 8-\lambda \end{vmatrix} = 0$$

$$\begin{vmatrix} 2-\lambda & 7 & 0 \\ 1 & 3-\lambda & 1 \\ 5 & 0 & 8-\lambda \end{vmatrix} = 0$$

$$(2-\lambda)(0 - (3-\lambda)(8-\lambda)) - 7((8-\lambda) - 5) + 0 = 0$$

$$(2-\lambda)(24 - 11\lambda + \lambda^2) - 7(3-\lambda) = 0$$

$$(48 - 46\lambda + 13\lambda^2 - \lambda^3) - (21 - 7\lambda) + 0 = 0$$

$$- \lambda^3 + 13\lambda^2 - 39\lambda + 27 = 0$$

$$\lambda^3 - 13\lambda^2 + 39\lambda - 27 = 0$$

$$\lambda = 1 \text{ or } 3 \text{ or } 9$$

For eigenvectors $(A - \lambda I)x = 0$

$$\begin{pmatrix} 2-\lambda & 7 & 0 \\ 1 & 3-\lambda & 1 \\ 5 & 0 & 8-\lambda \end{pmatrix} \begin{bmatrix} x_1 \\ x_2 \\ x_3 \end{bmatrix} = \begin{bmatrix} 0 \\ 0 \\ 0 \end{bmatrix}$$

When $\lambda = 1$

$$\begin{pmatrix} 2-1 & 7 & 0 \\ 1 & 3-1 & 1 \\ 5 & 0 & 8-1 \end{pmatrix} \begin{bmatrix} x_1 \\ x_2 \\ x_3 \end{bmatrix} = 0$$

$$\begin{pmatrix} 1 & 7 & 0 \\ 1 & 2 & 1 \\ 5 & 0 & 7 \end{pmatrix} \begin{bmatrix} x_1 \\ x_2 \\ x_3 \end{bmatrix} = 0$$

$$x_1 + 7x_2 = 0 \quad \text{--- (1)}$$

$$x_1 + 2x_2 + x_3 = 0 \quad \text{--- (2)}$$

$$5x_1 + x_2 + 7x_3 = 0 \quad \text{--- (3)}$$

From

$$x_1 + 7x_2 = 0$$

$$x_1 = -7x_2$$

equation becomes

$$-7 + 2(1) + x_3 = 0$$

$$-7 + 2 + x_3 = 0$$

$$x_3 = 5$$

$$x_1 = \begin{pmatrix} -7 \\ 1 \\ 5 \end{pmatrix}$$

$$k=3 = \begin{pmatrix} -1 & 7 & 0 \\ 1 & 0 & 1 \\ 5 & 0 & 5 \end{pmatrix}$$

$$x_0 = \begin{pmatrix} 1 \\ -1 \\ 3 \end{pmatrix}$$

$$-x_1 + 7x_2 = 0 \quad \text{--- (1)}$$

$$x_1 + x_3 = 0 \quad \text{--- (2)}$$

$$5x_1 + 5x_3 = 0 \quad \text{--- (3)}$$

From (1):

$$-x_1 + 7x_2 = 0$$

$$-x_1 = -7x_2$$

$$x_1 = 7x_2$$

$$x_1, x_2 = 7:1$$

equ (2) becomes

$$7 + x_3 = 0$$

$$x_3 = -7$$

$$x_2 = \begin{pmatrix} 7 \\ 1 \\ -7 \end{pmatrix}$$

When $k=9$

$$\begin{pmatrix} -7 & 7 & 0 \\ 1 & -6 & 1 \\ 5 & 0 & -1 \end{pmatrix}$$

$$-7x_1 + 7x_2 = 0$$

$$x_1 - x_2 + x_3 = 0$$

$$5x_1 + 0x_2 - x_3 = 0$$

from (1)

$$-7x_1 + 7x_2 = 0$$

$$-7x_1 = -7x_2$$

$$x_1 = x_2$$

$$x_1, x_2 = 1:1$$

equ (2) becomes

$$5(1) - x_3 = 0$$

$$-x_3 = -5$$

$$x_3 = 5$$